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Příloha TP1 – Výpočet reakcí 

Vyjádření reakcí pro vodorovné zatížení 

 

𝑅𝐶𝑌 =
𝐹𝑉 ∗ 𝑒 ∗ sin(𝛽1) + 𝐹𝑉 ∗ 𝑑 ∗ sin(𝛽1)

𝑑 ∗ cos(𝛽1) −
𝑐 ∗ cos(𝛼1) ∗ 𝑑 ∗ sin(𝛽1)

𝑐 ∗ sin(𝛼1)

 

 

=
5 ∗ 0,8 ∗ sin(26,1) + 5 ∗ 0,5 ∗ sin(26,1)

0,5 ∗ cos(26,1) −
1,3 ∗ cos(69,8) ∗ 0,5 ∗ sin(26,1)

1,3 ∗ sin(69,8)

= 7,77 𝑁 

( 7.16 ) 

  

𝑅𝐷𝑋 = −
𝑅𝐶𝑌 ∗ 𝑐 ∗ cos(𝛼1)

𝑐 ∗ sin(𝛼1)
= −

7,77 ∗ 1,3 ∗ cos(69,8)

1,3 ∗ sin(69,8)
= −2,86 𝑁 ( 7.17 ) 

  

𝑅𝐵𝑌 = 𝑅𝐶𝑌 = 7,77 𝑁 ( 7.18 ) 

  

𝑅𝐷𝑌 = 𝑅𝐶𝑌 = 7,77 𝑁 ( 7.19 ) 

  

𝑅𝐶𝑋 = 𝑅𝐷𝑋 − 𝐹𝑉 = −2,86 − 5 = −7,86 𝑁 ( 7.20 ) 

  

𝑅𝐵𝑋 = −
𝑅𝐵𝑌 ∗ 𝑐 ∗ cos(𝛼1)

𝑐 ∗ sin(𝛼1)
= −

7,77 ∗ 1,3 ∗ cos(69,8)

1,3 ∗ sin(69,8)
= −2,86 𝑁 ( 7.21 ) 

  

𝑀𝐴 = −𝐹𝑉 ∗ 𝑎 + 𝑅𝐷𝑋 ∗ 𝑏 − 𝐹𝑉 ∗ 𝑏 = −5 ∗ 1,6 + (−2,86) ∗ 1 − 5 ∗ 1
= −15,86 𝑁 ∗ 𝑚 

( 7.22 ) 

  

𝑅𝐴𝑋 = 𝐹𝑉 = 5 𝑁 ( 7.23 ) 

  

𝑅𝐴𝑌 = 0 = 0 𝑁 ( 7.24 ) 
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Vyjádření reakcí pro svislé zatížení 

 

𝑅𝐶𝑌 =
−𝐹𝑆 ∗ 𝑒 ∗ cos(𝛽1) −

𝐹𝑆 ∗ 𝑐 ∗ cos(𝛼1) ∗ 𝑑 ∗ sin(𝛽1)
𝑐 ∗ sin(𝛼1)

𝑑 ∗ cos(𝛽1) −
𝑐 ∗ cos(𝛼1) ∗ 𝑑 ∗ sin(𝛽1)

𝑐 ∗ sin(𝛼1)

=
−5 ∗ 0,8 ∗ cos(26,1) −

5 ∗ 1,3 ∗ cos(69,8) ∗ 0,5 ∗ sin(26,1)
1,3 ∗ sin(69,8)

0,5 ∗ cos(26,1) −
1,3 ∗ cos(69,8) ∗ 0,5 ∗ sin(26,1)

1,3 ∗ sin(69,8)
= −10,86 𝑁 

( 7.25 ) 

  

𝑅𝐷𝑋 = −
(𝑅𝐶𝑌 − 𝐹𝑆) ∗ 𝑐 ∗ cos(𝛼1)

𝑐 ∗ sin(𝛼1)
= −

(−10,86 − 5) ∗ 1,3 ∗ cos(69,8)

1,3 ∗ sin(69,8)
= 5,84 𝑁 

( 7.26 ) 

  

𝑅𝐵𝑌 = 𝑅𝐶𝑌 − 𝐹𝑆 = −10,86 − 5 = −15,86 𝑁 ( 7.27 ) 

  

𝑅𝐷𝑌 = 𝑅𝐶𝑌 − 𝐹𝑆 = −10,86 − 5 = −15,86 𝑁 ( 7.28 ) 

  

𝑅𝐶𝑋 = 𝑅𝐷𝑋 = 5,84 𝑁 ( 7.29 ) 

  

𝑅𝐵𝑋 = −
𝑅𝐵𝑌 ∗ 𝑐 ∗ cos(𝛼1)

𝑐 ∗ sin(𝛼1)
= −

−15,86 ∗ 1,3 ∗ cos(69,8)

1,3 ∗ sin(69,8)
= 5,84 𝑁 ( 7.30 ) 

  

𝑀𝐴 = 𝑅𝐷𝑋 ∗ 𝑏 = 5,84 ∗ 1 = 5,84 𝑁 ∗ 𝑚 ( 7.31 ) 

  

𝑅𝐴𝑋 = 0 = 0 𝑁 ( 7.32 ) 

  

𝑅𝐴𝑌 = 𝐹𝑆 = 5 𝑁 ( 7.33 ) 

 

  


